

[1]

1.

$$x^4 - 8x^3 + 23x^2 - 34x + 39 = 0$$

$$\begin{aligned} x^4 - 8x^3 + 23x^2 - 34x + 39 &= (x^2 - x + 3)(x^2 - 7x + 13) \\ &= \left(x - \frac{1}{2}\right)^2 + \frac{11}{4} \left(x - \frac{7}{2}\right)^2 + \frac{3}{4} \\ &\geq \frac{11}{4} \cdot \frac{3}{4} > 0, \end{aligned}$$

2.

) 2023,) 2024.

$$f(x) = ax^2 + bx + c, \quad a, b, c \in \mathbb{Z}, \quad a \neq 0 \quad D = b^2 - 4ac.$$

) $D = 2023$, $D \equiv 3 \pmod{4}$, $D \equiv b^2 \pmod{4}$,

$$b^2 \equiv -1 \pmod{4},$$

1 4.

) $f(x) = 2x^2 + 52x + 85$

$$D = 52^2 - 4 \cdot 2 \cdot 85 = 2024$$

3.

$$f(x) \quad g(x) \\ f(g(x)) = 0 \quad 2, 3, 5 \quad 7?$$

$$\begin{aligned}
 & \cdot \quad g(x) \quad x=2,3,5,7 \\
 & \quad \quad \quad f(x) \quad g(x_1) = g(x_2) \\
 x_1 + x_2 &= -\frac{b}{a}, \quad 2, 3, 5 \quad 7 \\
 2+3+5+7 &= 17 \quad \cdot \quad , \quad .
 \end{aligned}$$

4. o

$$\begin{cases} x^2 + x = y^3 - y, \\ y^2 + y = x^3 - x. \end{cases}$$

$$\begin{aligned}
 & \cdot \quad x(x+1) = (y-1)y(y+1) \quad y(y+1) = (x-1)x(x+1). \\
 & \quad \quad \quad x \quad y \quad \quad \quad 0, 1 \quad -1, \\
 & \quad \quad \quad (x, y) = (0, 0), (0, -1), (-1, 0), (-1, -1). \quad - \\
 & \quad \cdot \quad , \dots \quad x, y \neq 0, 1, -1 \quad (x-1)(y-1) = 1, \\
 y = \frac{x}{x-1} \quad y+1 &= \frac{2x-1}{x-1}. \\
 y(y+1) &= (x-1)x(x+1) \\
 x^4 - 2x &= 0, \quad x=2. \quad , \\
 y = \frac{2}{2-1} &= 2, \quad \dots (x, y) = (2, 2) \quad - \\
 & \cdot
 \end{aligned}$$

5.

$$\begin{cases} a+b+c = 2021, \\ a^2b + b^2c + c^2a = a^2c + b^2a + c^2b. \end{cases}$$

$$(a-b)(b-c)(c-a) = 0.$$

 a, b, c

$$\cdot \quad , \quad a+b+c = 2021$$

:

- $a = b, \quad (a, b, c) = (t, t, 2021 - 2t), t \in \mathbb{R},$
- $b = c, \quad (a, b, c) = (2021 - 2t, t, t), t \in \mathbb{R},$
- $a = c, \quad (a, b, c) = (t, 2021 - 2t, t), t \in \mathbb{R}.$

6.

$$\begin{cases} a+b+c=2021, \\ a^3b+b^3c+c^3a=a^3c+b^3a+c^3b. \end{cases}$$

$$(a-b)(b-c)(c-a)(a+b+c)=0.$$

$$a+b+c=2021,$$

$$2021(a-b)(b-c)(c-a)=0.$$

a, b, c

$$, \quad a+b+c=2021$$

:

- $a=b, \quad (a,b,c)=(t,t,2021-2t), t \in \mathbb{R},$
- $b=c, \quad (a,b,c)=(2021-2t,t,t), t \in \mathbb{R},$
- $a=c, \quad (a,b,c)=(t,2021-2t,t), t \in \mathbb{R}.$

7.

$$\begin{cases} a + \frac{a+8b}{a^2+b^2} = 2, \\ b + \frac{8a-b}{a^2+b^2} = 0. \end{cases}$$

$$, \quad a \quad b \quad 0,$$

$$a^2+b^2=0,$$

$$a=0,$$

$$b=4,$$

$$b=1 \quad b=-1, \quad , \quad b=0,$$

$$\frac{8a}{a^2} = 0,$$

$$b, \quad a$$

$$ab + \frac{ab+8b^2}{a^2+b^2} + ab + \frac{8a^2-ab}{a^2+b^2} = 2b,$$

$$2ab+8=2b. \quad a,$$

b

$$a^2 + \frac{a^2+8ab}{a^2+b^2} - b^2 - \frac{8ab-b^2}{a^2+b^2} = 2a,$$

$$b^2 = a^2 - 2a + 1 = (a-1)^2.$$

$$, \quad b = a-1, \quad 2ab+8=2b, \quad -$$

$$b^2 = -2, \quad -$$

$$\begin{aligned}
 & , \quad b=1-a, \quad 2ab+8=2b, \quad - \\
 & b^2=4, \quad b=2, a=-1 \quad b=-2, \\
 & a=3.
 \end{aligned}$$

8.

$$\begin{aligned}
 & \begin{cases} x^3 + y^3 + 2010xy = 670^3, \\ |x| + |y| = 1340. \end{cases} \\
 & \cdot \quad z = -670. \\
 & 0 = x^3 + y^3 + z^3 - 3xyz = \frac{1}{2}(x+y+z)((x-y)^2 + (y-z)^2 + (z-x)^2). \\
 & \quad \quad \quad x+y+z=0 \quad x=y=z. \quad - \\
 & \quad \quad \quad x=y=-670 \quad \cdot \\
 & \quad \quad \quad x+y=670. \quad , \\
 & x \quad y \quad , \quad , \\
 & \quad \quad x+y=1340. \quad x > 0 \geq y, \quad x-y=1340. \quad , \\
 & x+y=670 \quad x-y=1340 \quad x=1005, y=-335. \quad y > 0 \geq x, \\
 & \quad \quad \quad x=-335, y=1005.
 \end{aligned}$$

9.

$$\begin{aligned}
 & \begin{cases} x(xy-1) = 2(yz-1), \\ y(yz-1) = 2(zx-1), \\ z(zx-1) = 2(xy-1). \end{cases} \\
 & \cdot \\
 & \quad \quad \quad xyz(xy-1)(yz-1)(zx-1) = 8(xy-1)(yz-1)(zx-1). \\
 & \quad \quad \quad xy-1=0, \quad \quad \quad yz-1=0, \\
 & \quad \quad \quad \quad \quad \quad zx-1=0. \quad \quad \quad yz-1=0 \\
 & zx-1=0. \quad , \quad \quad \quad xy-1, yz-1, zx-1 \quad - \\
 & \quad \quad \quad 0, \quad \quad \quad 0. \\
 & \quad \quad \quad xy=1, yz=1, zx=1, \\
 & x^2y^2z^2=1, \quad x^2y^2=1 \quad z^2=1. \\
 & x^2=1 \quad y^2=1. \\
 & \quad \quad \quad z=1, \quad yz=1, zx=1 \quad x=y=1, \quad z=-1, \\
 & \quad \quad \quad yz=1, zx=1 \quad x=y=-1.
 \end{aligned}$$

$$a \in (0, 1].$$

11.

$$x^3 - cx^2 + (c-3)x + 1 = 0,$$

c

$$c(r^2 - r) = r^3 - 3r + 1$$

$$r \neq 0, 1$$

$$c = \frac{r^3 - 3r + 1}{r^2 - r},$$

$$c \in \mathbb{Q}.$$

$$x_1, x_2 \quad x_3 = r \in \mathbb{Q}.$$

$$x_1, x_2$$

$$x^2 - (c-r)x - \frac{1}{r} = 0.$$

$$D = (c-r)^2 + \frac{4}{r} = \left(\frac{r^2 - r + 1}{r^2 - r}\right)^2,$$

$$x_1 = \frac{1}{1-r}$$

$$x_1 = r - \frac{1}{r}$$

12.

$$r^3 x^3 + 7r^2 = 7r^3 x + 1$$

$$, r \neq 0.$$

$$(rx-1)(r^2 x^2 + rx + 1 - 7r^2) = 0.$$

$$rx = 1$$

$$D = r^2 - 4r^2(1-7r^2) = 28r^4 - 3r^2 > 0, \dots r^2 > \frac{3}{28}.$$

$$r \in \{1, \frac{1}{2}, \frac{1}{3}\}. \quad r = 1$$

$$x^2 + x - 6 = 0,$$

$$2 \quad -3$$

$$. \quad r = \frac{1}{2},$$

$$x^2 + 2x - 3 = 0,$$

$$1 \quad -3$$

$$. \quad r = \frac{1}{3}$$

$$x^2 + 3x + 2 = 0$$

$$-1 \quad -2$$

$$r \in \{1, \frac{1}{2}, \frac{1}{3}\}.$$

13.

$$a^3x^4 - 2a^2x^2 + 8x + a - 4 = 0$$

• , $a \neq 0$, $a = 0$ -

$$(ax)^4 - 2a(ax)^2 + 8(ax) + a^2 - 4a = 0.$$

$$y = ax$$

$$y^4 - 2ay^2 + 8y + a^2 - 4a = 0. \tag{1}$$

(1) , a -

a, \dots

$$a^2 - 2(y^2 + 2)a + y^4 + 8y = 0,$$

$$a_1 = y^2 + 2y \quad a_2 = y^2 - 2y + 4,$$

$$(a - a_1)(a - a_2) = 0,$$

$$(y^2 + 2y - a)(y^2 - 2y + 4 - a) = 0. \tag{2}$$

(2) -

$$y^2 + 2y - a = 0 \quad y^2 - 2y + 4 - a = 0$$

$$4(a+1) > 0 \quad 4(a-3) > 0,$$

$a > 3.$ $a > 3$, -

$$y = b \quad b^2 + 2b - a = b^2 - 2b + 4 - a, \quad b = 1,$$

$$a = 3. ,$$

(2),

$$a \in (3, +\infty).$$

14.

$a,$

$$\begin{cases} x^4 + x^2 = yz + a \\ y^4 + y^2 = zx + a \\ z^4 + z^2 = xy + a \end{cases}$$

) :
) ,
) .
 . 2

$$2(x^4 + y^4 + z^4) + (x - y)^2 + (y - z)^2 + (z - x)^2 = 6a. \quad (1)$$
) (1) $a < 0$,
 $a \geq 0$. ,
 $x = y = z = \sqrt[4]{a}$.
) $a > 0$ $x = y = z = \sqrt[4]{a}$
 $x = y = z = -\sqrt[4]{a}$, $a = 0$, (1) -
 $x = y = z = 0$, $a = 0$.

15.

$$\begin{cases} \sqrt{1+x_1} + \sqrt{1+x_2} + \dots + \sqrt{1+x_n} = n\sqrt{1+\frac{1}{n}}, \\ \sqrt{1-x_1} + \sqrt{1-x_2} + \dots + \sqrt{1-x_n} = n\sqrt{1-\frac{1}{n}}. \end{cases}$$

16.

$f(x) = ax^2 + bx + c, a, b, c \in \mathbb{Z}, a \neq 0.$ -
 $f(x) = 0$
 $p \quad q \quad f(p) = f(q) = 1.$
 $p - q.$

1. , .. , . , . 11 -

2022

2. , .. , . , ,

(2021)

3. , . ,

(2021)